TARGET To convert between grams and kilograms.

Examples
40009 = 4kg 23009 = 2-3kg 14609 = 1-46:9
75009 = 7-5kg 98009 = 9-8kg 37109 = 3-71kg
A B
Copy and complete. Copy and complete.
€ 43009 =] kg @ 56209=[ Jkg
€ 69009 =[ Jkg © 11909 = kg
€ 800g=[ Jkg @© 87409 =[ Jkg
© 82kg=[ |g O 305kg=[ g
© 27kg=[ ]g © 057kg=[ Jo
05.1kg=Dg 67'4”(9:,:]9
@ 36009 =[ kg @ 42309=[ Jkg
e 14009:':“(9 e 63509=Dkg
© 93009 =[ Jkg 0. |
@ 7.8kg=Dg @ 2-97kg=Dg
m 0-2kg = Dg @ o Dg
@ 49ka=[ |g © o[ s

@ Ten identical apples
have a total weight of
1-5 kg. What does one
apple weigh in grams?

@ A bag of chips weighs
2-5kg. 850 g is used.
How much is left?

@ Each pepper pot holds

80g. How much

pepper is needed to
fill 30 pots? Give your
answer in kilograms.

C

Copy and complete.
@ 26599= Jko
© 73059 =[ kg
@ 31929= [ kg

@ 1-574kg=[_Jg
© 0-908kg =[_]g
@ 9745k =[_]g

@ 52619 kg
e 8279=Dkg
© 108539 = Jkg

@ 1485kg=[ g
@ 6916kg=[ |g
@ 1532k =[ |g

@ One can of fruit
cocktail weighs 400 g.
What do 60 cans weigh
in kilograms?

@ Benita weighs 32.45 kg.
Harley weighs 900 g
more. What does
Harley weigh?



